
  

OCTOBER 2012 U/ID 46435/UCCE 

Time : Three hours  Maximum : 100 marks 

PART A — (10 × 3 = 30 marks) 

Answer any TEN questions. 

All questions carry equal marks. 

1. Write down the formula for secant and False - 

position methods. 

  secant  ©ØÖ® False position •øÓPÎß 
\©ß£õkPøÍ GÊxP. 

2. Mention the formula for Simpson’s rule. 

  Simpson’s  ß Âv°ß \©ß£õmiøÚ u¸P. 

3. Give the formula for predictor - corrector method. 

  Predictor - corrector •øÓ°ß \©ß£õmiøÚ u¸P. 

4. Find the AM for the following items : 

x: 1 2 3 4 5 

f: 4 6 8 9 3 

 ¤ßÁ¸ÁÚÁØÔß Tmka \µõ\›ø¯ PõsP 

x: 1 2 3 4 5 

f: 4 6 8 9 3 
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5. Mention the formula for finding the Mean 

deviation from Median. 

  Median ‰»® Mean deviation  Põq® •øÓ°ß 
\©ß£õmiøÚ u¸P. 

6. Define : Standard error and t-test. 

  Standard error ©ØÖ®  t-test  °øÚ Áøµ¯ÖUP. 

7. Define : Normal and exponential distributions. 

  Normal ©ØÖ® exponential distributions PøÍ 
Áøµ¯ÖUP. 

8. Mention the formula for two regression lines. 

  Cµsk regression  ÷PõkPÎß \©ß£õmiøÚ u¸P. 

9. What is Stack and queue. 

  Stack ©ØÖ® queue  GßÓõÀ GßÚ? 

10. What is Asymptotic notation? 

  Asymptotic notation  GßÓõÀ GßÚ? 

11. Define: Binary Tree. 

  Binary Tree ø¯ Áøµ¯ÖUP. 

12. What is Directed Group? 

  Directed  Áøµ£h® GßÓõÀ GßÚ? 
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PART B — (5 × 6 = 30 marks) 

Answer any FIVE questions. 

All questions carry equal marks. 

13. Obtain a root of the equation correct to four 

decimal places 0943 =−− xx  by False position 

method. 

  False position  •øÓ°À |õßS C»UP® v¸zu©õP  

J¸ ‰»zøu PõsP 0943 =−− xx . 

14. Dividing the range into 10 equal parts, find the 

approximation value of ∫
π

0

sin xdx by Trapezoidal 

rule. 

  Trapezoidal  Âv°ß ‰»® 10 \©£õP[PÍõP ¤›zx 

∫
π

0

sin xdx  ß ©v¨ø£ PõsP. 

15. Find a root of the equation 30523 toxx =−−  

significant digits using Secant method. 

  Secant  •øÓ°À 0523 =−− xx  ß J¸ ‰»zøu 

PõsP( 3 C»UP® v¸zu©õP). 

16. In two factories A and B engaged in the same 

industry in an area, the average weekly wage in 

rupees and standard deviation are as follows: 
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Factory Average weekly wage S.D. No. Of Workers 

A 36 5 250 

B 38 4.5 150 

 Find the average and s.d. of the workers in the two 

factories taken together. 

  A,B GßÓ C¸ öuõÈØThzvß Áõµõ¢vµ \µõ\› T¼ 
©ØÖ® S.D  ¤ßÁ¸©õÖ ö£Ó¨£mkÒÍx. ¤ßÁ¸® 
©v¨¦PøÍ öPõsk \µõ\› ©ØÖ® S.D   ø¯U PõsP. 

öuõÈØTh® \µõ\› 
Áõµ¢vµ T¼ 

S.D. öuõÈ»õÎPÎß 
GsoUøP 

A 36 5 250 

B 38 4.5 150 

17. Calculate the Arithmetic Mean and Median of the 

frequency distribution given below :  

Class 

Limits : 

130-134 135-139 140-144 145-149 

Frequency 5 15 28 24 

Class 

Limits : 

150-154 155-159 160-164   

Frequency 17 10 1   

  ¤ßÁ¸® ©v¨¦PÐUS Arithmetic Mean ©ØÖ® 

Median  PøÍ PõsP. 

Class 

Limits : 

130-134 135-139 140-144 145-149 

Frequency 5 15 28 24 

Class 

Limits : 

150-154 155-159 160-164   

Frequency 17 10 1   

[P.T.O.] 
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18. Explain the various operations on queue. 

  Queue ß £»uµ¨£mh ö\¯À£õkPøÍ ÂÍUSP. 

19. Write about Binary search and complexity. 

  Binary search ©ØÖ® complexity PøÍ Â›ÁõP 
GÊxP. 

PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions. 

All questions carry equal marks 

20. Find the inverse of the matrix. 

 
















−
−
221

132

214

 by Gauss elimination method. 

  Gauss - elimination •øÓ°À, ¤ßÁ¸® matrix ß 
inverse  ø¯ PõsP. 

 
















−
−
221

132

214

 

21. Solve the following system by Gauss-Jordan 

method. 

  

10473

857

425

=++
=−+
=+−

zyx

zyx

zyx
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 Gauss – Jordan •øÓ°À wºUP. 

 

10473

857

425

=++
=−+
=+−

zyx

zyx

zyx

 

22. Find the coefficient of correlation for the  

following: 

x: 21 22 23 24 25 26 27 28 29 30 

y: 40 39 39 35 34 34 34 31 28 25 

  ¤ßÁ¸® Â£µ[PÐUS coefficient  of correlation  
PõsP. 

x: 21 22 23 24 25 26 27 28 29 30 

y: 40 39 39 35 34 34 34 31 28 25 

23. Form the regression equations: 

x: 60 40 70 50 60 80 50 90 40 60 

y: 3.0 2.5 6.0 4.5 5.0 4.5 2.0 5.5 3.0 4.5 

  ¤ßÁ¸® ÂÁµ[PÐUS regression  \©ß£õkPøÍ 
u¸P. 

x: 60 40 70 50 60 80 50 90 40 60 

y: 3.0 2.5 6.0 4.5 5.0 4.5 2.0 5.5 3.0 4.5 

24. Describe on linked list and circular queue. 

  linked list ©ØÖ® circular queue PøÍ ÂÁ›. 

25. Explain Dijkstra’s algorithm in detail. 

  Dijkstra’s algorithm ø¯ ÂÍUSP. 

———————  


